Work Quiz 
1.
A body of mass m slides a distance d along a horizontal surface.  How much work is done by gravity? 

A)
mgd 

B)
zero 

C)
–mgd 

D)
One cannot tell from the given information. 
2.
A body moves with decreasing speed.  Which of the following statements is true? 

A)
The net work done on the body is positive, and the kinetic energy is decreasing. 

B)
The net work done on the body is zero, and the kinetic energy is increasing. 

C)
The net work done on the body is negative, and the kinetic energy is increasing. 

D)
The net work done on the body is negative, and the kinetic energy is decreasing. 
3.
A 5.00-kg block of ice is sliding across a frozen pond at 2.00 m/s.  A 7.60-N force is applied in the direction of motion.  After the ice block slides 15.0 m, the force is removed.  The work done by the applied force is 

A)
114 J    B)  +114 J    C)  735 J    D)  +735 J    E)  +19.7 J 
4.
In which one of the following situations will there be an increase in kinetic energy? 

A)
A projectile approaches its maximum height. 

B)
A box is pulled across a rough floor at constant speed. 

C)
A child pushes a merry go round causing it to rotate faster. 
5.
A 1.0-kg ball on the end of a string is whirled at a constant speed of 2.0 m/s in a horizontal circle of radius 1.5 m.  What is the work done by the centripetal force during one revolution? 

A)
zero joules    B)  2.7 J    C)  6.0 J    D)  25 J    E)  33 J 
6.
A bullet with a mass of 0.010 kg and an initial speed of 800 m/s penetrates 0.05 m into a fixed block of wood before stopping.  The average force exerted by the block on the bullet was 

A)
160 N    B)  1.3  105 N    C)  1.3  103 N    D)  6.4  104 N    E)  6.4  105 N 
7.
Negative work means 

A)
the kinetic energy of the object increases. 

B)
the applied force is variable. 

C)
the applied force is perpendicular to the displacement. 

D)
the applied force is opposite to the displacement. 
8.
A 1500-kg car travels at a constant speed of 22 m/s around a circular track that is 80 m across.  What is the kinetic energy of the car? 

A)
zero joules    B)  3.6  105 J    C)  3.3  104 J    D)  1.6  104 J    E)  7.2  105 J
9.
The kinetic energy of a car is 8  106 J as it travels along a horizontal road.  How much work is required to stop the car in 10 s? 

A)
zero joules    B)  8  104 J    C)  8  105 J    D)  8  106 J    E)  8  107 J
10.
A 5-kg object slides down a frictionless surface inclined at an angle of 30º from the horizontal.  The total distance moved by the object along the plane is 10 meters.  The work done on the object by the normal force of the surface is 

A)
zero    B)  0.50 kJ    C)  0.43 kJ    D)  0.58 kJ    E)  0.25 kJ 
11.  You throw a baseball straight up.  Compare the sign of the work done by gravity while the ball goes up with the sign of the work done by gravity while it goes down.

A)  positive up, positive down   B) positive up, negative down
  C) negative up, positive down   D) negative up, 













negative down
12. How much work is done by gravity as a 3 kg cat falls out of a 9 m tree (safely into a pillow truck)?

A)   270 J

B)   27 J

C)   0 J

D)   -270 J
E)   -27 J 
